Good afternoon and welcome back! Warm up in notes:
.:-(l'-:. m(\k* 7“\)
Find the eqliation of the ling tangent to y=(x%-2x-3)(2x+5) when x=1.

/Jrﬁlc{/ deroctice Q ~6, i i
é} <02A’ZIQ\,J S> Y (& — 3 - 3) <§9\>

<9\(ﬁ -’&)(%)Jrs) ¥ (-4) &a)
o -3 - ¥




VRG



What can you take derivatives of?
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Find the derivative of y = sec(x) Recall: \
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The six major trig derivative rules
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How do you take the derivative of y=sin(3x 4-2) ?



[he Chain Rule (one of the most important in calculus!)

How do you take the derivative of y=sin(3x 4-2) ?

Let's look at it graphically. kogv’
bitly/chainrule02 \\) = ) \\




So. no. the derivative is not so simple.

First, note that y=sin(3x?-2) is a composite function
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Suppose f(x) = x? and g(x)=5x-3 j
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1. Find f(g(x)) (don't simplify)

(Sx-3)=

2. Simplify f{g(x))

UnNpury Q;SKL’Soy'YCf 2(/2()'; -32(/1,(
3. Find d {(g(x))

dx h(s00)= ReA)



So, if f=x? and g=5x-3
f(g(x)) = (5x-3)* = 25x*-30x+9

Derivative of f(g(x)) would be 50x - 30
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The Chain Rule (booklet
and notes)




Find f'(x) for f(x) = (5x-3)%
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Find dy/dx where y = se¢(3x%+2)
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Find the derivative function

y=[cos(4x-3) T = cos”(44-3)
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2
24. If f(x)=(x*-2x-1)3, then ) is f /(D)
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Time for practice in class!
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7. Let fiz) aand b are eonstants

5 For all o, whiat. is Ul red

a) If the fy

b) Find the unique values for o and b that will ke f both contimmous and differentinble.

Stay for DS tomorrow
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Find the values of the ing derivitives at r = |

mini lesson is important
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Fixp THE DI ATIVE OF THE GIVEN FUNCTION. EXPRESS YOUR ANSWER [N SIMPLEST
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